ISSN: 2231-0851



SCIENCEDOMAIN international





www.sciencedomain.org

Convergence Results of Two Step Iteration Procedure with Errors for a Pair of Asymptotically Non-Expansive Mappings in the Intermediate Sense

Anju Panwar¹ and Ravi Parkash Bhokal^{1*}

¹Department of Mathematics, M.D.U. Rohtak, Haryana, 124001, India.

Authors' contributions

This work was carried out in collaboration between both authors. Author RPB designed the study, wrote the first draft of the manuscript and managed literature searches. Author AP managed the analyses of the study. Both authors read and approved the final manuscript.

Article Information

DOI: 10.9734/BJMCS/2017/30320 Editor(s): (1) Serkan Araci, Hasan Kalyoncu University, Turkey. Reviewers: (1) Bohdan Podlevskyi, Institute of Applied Problems of Mechanics and Mathematics of National Academy of Sciences of Ukraine, Ukraine. (2) Zhengcheng Dong, Wuhan University, China. Complete Peer review History: http://www.sciencedomain.org/review-history/17169

Original Research Article

Accepted: 28th November 2016 Published: 8th December 2016

Received: 2nd November 2016

Abstract

In this paper, we study strong and weak convergence results of a two step iterative process with errors for a pair of asymptotically non-expansive mapping in the intermediate sense.Our results generalize the corresponding results due to Hou and Du [4] by taking the class of asymptotically non-expansive mapping in the intermediate sense. We have also studied weak and strong convergence results under specific conditions.

Keywords: Asymptotically non-expansive mapping in the intermediate sense; condition A'; semicompact.

2010 Mathematics Subject Classification: 47H09,47H10.

^{*}Corresponding author: E-mail: ravibhokal08@qmail.com;

1 Introduction and Preliminaries

Let C be a non empty subset of a Banach space E, and let $T: C \to C$ be a mapping. Then T is said to be non-expansive [1] if

$$||Tx - Ty|| \le ||x - y||, \text{ for all } x, y \in C.$$

In 1972, Geobel and Kirk [2] introduced the class of asymptotically non-expansive mappings as:

A self mapping T is said to be asymptotically non-expansive if there exists a sequence $\{k_n\} \subset [1, \infty)$ with $k_n \to 1$ as $n \to \infty$ such that

$$||T^n x - T^n y|| \le k_n ||x - y||$$
, for all $n \ge 1$ and $x, y \in C$.

Clearly the class of asymptotically non-expansive includes the class of non-expansive mappings as a proper subclass.

In 1993, Bruck, Kuczumov and Reich [3] introduced the class of asymptotically non-expansive in the intermediate sense as:

A self mapping T is said to be asymptotically non-expansive in the intermediate sense provided T is uniformly continuous and satisfies the following inequality:

$$limsup_{n\to\infty}(||T^n x - T^n y|| - ||x - y||) \le 0$$
, for all $x, y \in C$.

If we take $\xi_n = max\{0, sup_{x,y\in C}(\parallel T^n x - T^n y \parallel - \parallel x - y \parallel)\}$, then $\xi_n \to 0$ as $n \to \infty$. Hence, we obtain

$$|| T^n x - T^n y || \le || x - y || + \xi_n$$
, for all $n \ge 1, x, y \in C$.

It follows that asymptotically non-expansive mappings in the intermediate sense is more general than that of the asymptotically non-expansive mappings.

Example 1.1. Let X = R be a normed linear space and $h \in (0, 1)$. For each $x \in X$, we define $T(x) = \begin{cases} \frac{hx}{2}, & \text{if } x \neq 0 \\ 0, & \text{if } x = 0. \end{cases}$

Then

$$|| T^n - T^n y || = \frac{h^n}{2^n} || x - y || \le || x - y ||$$
, for all $x, y \in X, n \in N$.

Then T is an asymptotically non-expansive mapping with the constant sequence 1. Now $limsup_{n\to\infty}(\parallel T^nx - T^ny \parallel - \parallel x - y \parallel)$

$$= \lim \sup_{n \to \infty} \{ \frac{h^n}{2^n} \| x - y \| - \| x - y \| \} \le 0.$$

because $\lim_{n\to\infty}h^n = 0$ for all $x, y \in H, n \in N$. Hence T is asymptotically non-expansive mapping in the intermediate sense.

In this paper we shall consider the following iterative scheme with error given by Hou and Du [4], For $x_0 \in C$,

$$\begin{aligned} x_n &= a_n x_{n-1} + b_n T^n y_n + c_n S^n x_n + e_n u_n, \\ y_n &= a'_n x_{n-1} + b'_n x_n + c'_n S^n x_{n-1} + d'_n T^n x_n + e_n v_n (1.1) \end{aligned}$$

where $\{a_n\}, \{b_n\}, \{c_n\}, \{e_n\}, \{a'_n\}, \{b'_n\}, \{c'_n\}, \{d'_n\}, \{e'_n\}$ are sequences in [0, 1] with $a_n + b_n + c_n + e_n = 1, a'_n + b'_n + c'_n + d'_n + e'_n = 1$, and $T, S : C \to C$ are both non-linear mappings and $\{u_n\}, \{v_n\} \in C$.

Now we recall the following concepts:

A mapping T with domain D(T) and range R(T) is said to be demiclosed at a point $p \in E$ if whenever $\{x_n\}$ is a sequence in D(T) such that $\{x_n\}$ converges weakly to $x \in D(T)$ and $\{Tx_n\}$ converges strongly to p, then Tx = p.

A mapping T is said to be semicompact if for any sequence $\{x_n\}_{n=1}^{\infty}$ in C such that $\lim_{n\to\infty} || x_n - Tx_n || = 0$, there exists a subsequence $\{x_{n_j}\}$ of $\{x_n\}$ such that $\{x_{n_j}\}$ converges strongly to some $u \in C$.

A Banach space E is said to satisfy Opial's condition [5] if whenever $\{x_n\}$ is a sequence in E which converges weakly to x, then

 $liminf_{n\to\infty} \parallel x_n - x \parallel \leq liminf_{n\to\infty} \parallel x_n - y \parallel$, for all $y \in E, y \neq x$.

Let C be a subset of a Banach space E. Two mappings $S, T : C \to C$ are said to satisfy condition condition (A')[6] if there exists a non-decreasing function f: $[0, \infty) \to [0, \infty)$ with f(0) = 0, f(r) > 0 for all $r \in (0, \infty)$ such that

$$\frac{1}{2}(||x - Tx|| + ||x - Sx||) \ge f(d(x, F))$$

for all $x \in C$ where $d(x, F) = inf\{ || x - x^* || : x^* \in F(T) \cap F(S) \}.$

Lemma 1.2. [7]Let $\{a_n\}$ and $\{b_n\}$ be two sequences of nonnegative real numbers satisfying $a_{n+1} \leq a_n + b_n$ for all $n \geq 1$.

- 1. if $\sum_{n=1}^{\infty} b_n < \infty$, then $\lim_{n \to \infty} a_n$ exists.
- 2. if $\sum_{n=1}^{\infty} b_n < \infty$, and $\{a_n\}$ has a subsequence converging to zero, then $\lim_{n\to\infty} a_n = 0$.

Lemma 1.3. [1] Let E be a uniformly convex Banach space satisfying Opial's condition and let C be a non-empty closed convex subset of E. Let $T : C \to C$ be a non-expansive mapping. Then (I - T) is demiclosed with respect to zero.

Lemma 1.4. [8] Let E be a uniformly convex Banach space and $0 for all positive integers n.Also suppose that <math>\{x_n\}$ and $\{y_n\}$ are two sequences of E such that $\limsup_{n\to\infty} || x_n || \le \alpha$, $\limsup_{n\to\infty} || y_n || \le \alpha$, and $\limsup_{n\to\infty} || t_n x_n + (1 - t_n) y_n || = \alpha$, holds for some $\alpha \ge 0$. Then $\lim_{n\to\infty} || x_n - y_n || = 0$.

2 Main Results

Lemma 2.1. Let H be a non-empty convex subset of a uniformly convex Banach space X and let $T_1, T_2 : H \to H$ be asymptotically non-expansive mappings in the intermediate sense. Let $\{x_n\}$ be the sequence defined by (1.1) with the following conditions:

- 1. $a_n \to 0, e_n \to 0, a_n' \to 0, b_n' \to 0, e_n' \to 0, as n \to \infty;$
- 2. $b_n, c_n, c'_n, d'_n \in [\delta, 1 \delta]$ for some $\delta \in (0, 1)$;
- 3. $c_{n}^{'}, d_{n}^{'} \leq \beta$ for some $\beta \in (0, 1)$.

If $F = F(T_1) \cap F(T_2) \neq \phi$, then we have

- 1. $\lim_{n\to\infty} ||x_n p||$ exists for all $p \in F$ and $\{x_n\}, \{T_1^n x_n\}, \{T_2^n x_n\}$ are all bounded.
- 2. $\lim_{n \to \infty} ||x_n T_1^n x_n|| = 0 = \lim_{n \to \infty} ||x_n T_2^n x_n||.$
- *Proof.* For any $p \in F$ we have

$$\| x_{n} - p \| = \| a_{n}x_{n-1} + b_{n}T^{n}y_{n} + c_{n}S^{n}x_{n} + e_{n}u_{n} - p \|$$

$$= \| a_{n}(x_{n-1} - p) + b_{n}(T^{n}y_{n} - p) + c_{n}(S^{n}x_{n} - p) + e_{n}(u_{n} - p) \|$$

$$\leq a_{n} \| x_{n-1} - p \| + b_{n} \| T^{n}y_{n} - p \| + c_{n} \| S^{n}x_{n} - p \|$$

$$+ e_{n} \| u_{n} - p \|$$

$$\leq a_{n} \| x_{n-1} - p \| + b_{n} \| y_{n} - p \| + b_{n}\xi_{n}^{'} + c_{n} \| x_{n} - p \|$$

$$+ c_{n}\xi_{n}^{''} + e_{n} \| u_{n} - p \| (2.1)$$

Now

$$\| y_n - p \| = \| a'_n x_{n-1} + b'_n x_n + c'_n S^n x_{n-1} + d'_n T^n x_n + e'_n v_n - p \|$$

$$\leq a'_n \| x_{n-1} - p \| + b'_n \| x_n - p \| + c'_n \| S^n x_{n-1} - p \|$$

$$+ d'_n \| T^n x_n - p \| + e'_n \| v_n - p \|$$

$$\leq a'_n \| x_{n-1} - p \| + b'_n \| x_n - p \| + c'_n \| x_{n-1} - p \|$$

$$+ c'_n \xi''_n + d'_n \| x_n - p \| + d'_n \xi'_n + e'_n \| v_n - p \|$$

$$\leq [a'_n + c'_n] \| x_{n-1} - p \| + [b'_n + d'_n] \| x_n - p \| + c'_n \xi''_n$$

$$+ d'_n \xi'_n + e'_n \| v_n - p \| (2.2)$$

Now from (2.1) and (2.2) we have

$$\| x_{n} - p \| \leq a_{n} \| x_{n-1} - p \| + b_{n} [a'_{n} + b'_{n}] \| x_{n-1} - p \| + b_{n} [b'_{n} + d'_{n}] \| x_{n} - p \| + b_{n} c'_{n} \xi''_{n} + b_{n} d'_{n} \xi'_{n} + b_{n} e'_{n} \| v_{n} - p \| + b'_{n} \xi'_{n} + c_{n} \xi''_{n} + c_{n} \| x_{n} - p \| + e_{n} \| u_{n} - p \| \leq [a_{n} + b_{n} (a'_{n} + b'_{n})] \| x_{n-1} - p \| + b_{n} (b'_{n} + d'_{n}) \| x_{n} - p \| + c_{n} \| x_{n} - p \| + e_{n} \| u_{n} - p \| + b_{n} e'_{n} \| v_{n} - p \| + [b_{n} c'_{n} \xi''_{n} + b_{n} d'_{n} \xi'_{n} + b_{n} \xi'_{n} + c_{n} \xi''_{n}] \leq [a_{n} + b_{n} (a'_{n} + b'_{n}) \| x_{n-1} - p \| + [b_{n} (b'_{n} + d'_{n}) + c_{n}] \| x_{n} - p \| + e_{n} \| u_{n} - p \| + b_{n} e'_{n} \| v_{n} - p \| + [b_{n} c'_{n} \xi''_{n} + b_{n} d'_{n} \xi'_{n} + b_{n} \xi'_{n} + c_{n} \xi''_{n}] (2.3)$$

From equation (2.2) and (2.3) we conclude that

$$||x_n - p|| \le ||x_{n-1} - p|| (2.4)$$

and hence by lemma (1.2), $\lim_{n\to\infty} ||x_n - p||$ exists for all $p \in F$.

Also $\{x_n\}$ is bounded and so $\{Sx_n\}$ and $\{Tx_n\}$ are both bounded and hence $\{S^nx_n\}$ and $\{T^nx_n\}$ are also bounded.

Now suppose that $\lim_{n\to\infty} ||x_n - p|| = \beta$ for some $\beta > 0$.

By inequalities (2.4) and (2.3) we have,

 $limsup_{n\to\infty} \parallel y_n - p \parallel \leq \beta(2.5)$

From the iterative process (1.1), we have

$$||x_n - p|| = ||b_n[T^n y_n - p + a_n(x_{n-1} - S^n x_n) + e_n(u_n - S^n s_n)] + (1 - b_n)[S^n x_n - p + a_n(x_{n-1} - S^n x_n) + e_n(u_n - S^n s_n)](2.6)$$

Since $a_n \to 0, \{x_n\}, \{S^n x_n\}$ and $\{T^n x_n\}$ are bounded. It follows from lemma (1.4) that,

 $\lim_{n \to \infty} \| T^n y_n - S^n x_n \| = 0(2.7)$

Now by inequality (2.1) and (2.4) we have,

$$\| x_n - p \| \leq a_n \| x_{n-1} - p \| + b_n \| y_n - p \| + c_n \| x_n - p \|$$

+ $e_n \| u_n - p \| + b_n \xi'_n + c_n \xi''_n$

$$(1 - c_n) || x_n - p || - a_n || x_{n-1} - p || - e_n || u_n - p || - b_n \xi'_n - c_n \xi''_n \le b_n || y_n - p ||$$

Taking liminf on both sides in the above inequality we have

$$\beta \leq liminf_{n \to \infty} \parallel y_n - p \parallel \leq limsup_{n \to \infty} \parallel y_n - p \parallel \leq \beta$$

which yields $\lim_{n\to\infty} || y_n - p || = \beta(2.8)$.

Also

$$||y_n - p|| = ||c'_n[(S^n x_{n-1} - p) + a'_n(x_{n-1} - T^n x_n) + e'_n(v_n - T^n x_n)] + ||(1 - c'_n)[(T^n x_{n-1} - p) + a'_n(x_{n-1} - T^n x_n) + e'_n(v_n - T^n x_n)]$$

Since $a_n^{'} \to 0, e_n^{'} \to 0, \{x_n\}, \{S^n x_n\}$ and $\{T^n x_n\}$ are bounded.

It follows from lemma (1.4) that,

$$\lim_{n \to \infty} \| S^n x_{n-1} - T^n x_n \| = 0(2.9)$$

Now by iteration scheme (1.1) we have,

$$|| x_n - T^n y_n || = a_n || x_{n-1} - T^n y_n || + c_n || S^n x_n - T^n y_n || + e_n || u_n - T^n y_n ||$$

Since $a_n \to 0, e_n \to \infty$ as $n \to \infty$ and using the inequality (2.9), the above inequality becomes

$$\lim_{n \to \infty} \|x_n - T^n y_n\| = 0 \quad (2.10)$$

From inequalities (2.7) and (2.10) we can write,

$$||x_n - S^n x_n|| \leq ||x_n - T^n y_n|| + ||T^n y_n - S^n x_n||$$

$$\to 0asn \to \infty. (2.11)$$

Also

$$\| y_n - x_n \| = \| a'_n x_{n-1} + b'_n x_n + c'_n S^n x_{n-1} + d'_n T^n x_n + e'_n v_n - x_n \|$$

$$= \| a'_n x_{n-1} + (1 - a'_n - c'_n - e'_n) x_n + c'_n S^n x_{n-1}$$

$$+ d'_n T^n x_n + e'_n v_n - x_n \|$$

$$\le a'_n \| x_{n-1} - x_n \| + c'_n \| S^n x_{n-1} - x_n \|$$

$$+ d'_n \| T^n x_n - x_n \| + e'_n \| v_n - x_n \|$$
(2.12)

5

Now

$$\| x_n - T^n x_n \| \leq \| x_n - S^n x_n \| + \| S^n x_n - T^n y_n \| + \| T^n y_n - T^n x_n \|$$

$$\leq \| x_n - S^n x_n \| + \| S^n x_n - T^n y_n \| + \| y_n - x_n \| + \xi'_n$$

$$\leq \| x_n - S^n x_n \| + \| S^n x_n - T^n y_n \|$$

$$\leq a'_n \| x_{n-1} - x_n \| + c'_n \| S^n x_{n-1} - x_n \|$$

$$+ d'_n \| T^n x_n - x_n \| + e'_n \| v_n - x_n \| + \xi'_n$$

As $a'_n \to 0, e'_n \to 0, \xi'_n \to 0$, as $n \to \infty$ and using (2.7), (2.11), (2.10) in the above inequality we have

$$\lim_{n\to\infty} \|x_n - T^n x_n\| = 0$$

This completes the proof.

Theorem 2.2. Let E be a uniformly convex Banach space and C be a non-empty bounded subset of it. Let $S, T : E \to E$ be two asymptotically non-expansive mappings in the intermediate sense and $\{x_n\}$ be the sequence defined by the iterative procedure (1.1). If $F = F(T) \cap F(S) \neq \phi$ and if one of the mapping S and T is semi compact then $\{x_n\}$ converges strongly to a common fixed point of S and T.

Proof. Since one of the S and T is semi compact so by definition there exists a subsequence $\{y_{n_j}\}$ of $\{x_n\}$ such that such that such that such that $\{y_{n_j}\}$ converges strongly to $\gamma.C$ is closed hence $\gamma \in C$. Now continuity of S and T implies that

$$\| S^n y_{n_j} - S^n \gamma \| \to 0 \text{ and}$$
$$\| T^n y_{n_j} - T^n \gamma \| \to 0 \text{ as } n_j \to \infty$$

Now from lemma (2.1)

 $|| T^n \gamma - \gamma || = 0 \Rightarrow || T\gamma - \gamma || = 0$. Similarly $|| S\gamma - \gamma || = 0$. Hence $\gamma \in F$. Also lemma (2.1) yields that $\lim_{n\to\infty} || x_n - p ||$ exists for all $\gamma \in F$. Therefore $\{x_n\}$ must itself converge to $\gamma \in F$. This completes the proof.

Theorem 2.3. et E be a uniformly convex Banach space and C be a non-empty bounded subset of it. Let $S, T : E \to E$ be two asymptotically non-expansive mappings in the intermediate sense and $\{x_n\}$ be the sequence defined by the iterative procedure (1.1). If $F = F(T) \cap F(S) \neq \phi$ and if mappings S and T satisfy the condition A' then $\{x_n\}$ converges strongly to a common fixed point of S and T.

Proof. From lemma (2.1) $\lim_{n\to\infty} ||x_n - p||$ exists for all $p \in F$.Let $\lim_{n\to\infty} ||x_n - p|| = \beta$. If $\beta = 0$ then the result holds obviously.So let $\beta \ge 0$. Now by lemma (2.1)

$$\lim_{n \to \infty} \|x_n - T^n x_n\| = 0 = \lim_{n \to \infty} \|x_n - S^n x_n\|$$

Now by equation (2.4)

$$||x_n - p|| \leq ||x_{n-1} - p||$$

and hence

$$inf_{p\in F} \parallel x_n - p \parallel \leq inf_{p\in F} \parallel x_{n-1} - p \parallel$$
$$\Rightarrow d(x_n, F) \leq d(x_{n-1}, F)$$

Hence from lemma (1.2) $\lim_{n\to\infty} d(x_n, F)$ exists.Now by condition $A' \lim_{n\to\infty} f(d(x_n, p)) = 0$ for all $p \in F$.

Now we take a subsequence $\{x_{n_j}\}$ of $\{x_n\}$ and $\{y_j\} \subset F$ such that

$$||x_{n_j} - y_j|| \le 2^{-j}$$

Next we claim that $\{y_j\}$ is a cauchy sequence in F. Now

$$\| y_{j+1} - y_j \| \leq \| y_{j+1} - x_{n_j} \| + \| x_{n_j} - y_j \|$$

$$\leq 2^{-j} + 2^{-j}$$

$$= 2^{-j+1}$$

which shows that $\{y_j\}$ is a cauchy sequence and hence convergent. Let $y_j \to y \in F$. Again by lemma (2.1) $\lim_{n\to\infty} ||x_n - y|| = 0$. Hence $x_n \to y \in F$. This completes the proof.

Theorem 2.4. Let E be a uniformly convex Banach space satisfying Opial's condition ans C be its non-empty convex subset. Let $S, T : C \to C$ be two asymptotically non-expansive mappings in the intermediate sense and $\{x_n\}$ be the sequence defined by the iterative procedure (1.1). If $F = F(T) \cap F(S) \neq \phi$ then $\{x_n\}$ converges weakly to a common fixed point of S and T.

Proof. By lemma (2.1) $\lim_{n\to\infty} d(x_n, p)$ exists for $p \in F$. Since every bounded subset of a uniformly convex space is weakly compact hence there exists a subsequence $\{x_{n_j}\}$ of the bounded sequence $\{x_n\}$ such that $\{x_{n_j}\}$ converges weakly to a point $\beta \in C$. Now from lemma (2.1)

$$\lim_{n_j} \to \infty \parallel T^n x_{n_j} - x_{n_j} \parallel = 0$$

By lemma (1.3), (I - T) is demiclosed and hence $q \in F(T)$. By the similar arguments $\beta \in F(S)$. Hence $\beta \in F(T) \cap F(S)$.

Uniqueness: Let if possible there exists a subsequence $\{x_{n_j}\}$ of the sequence $\{x_n\}$ such that $\{x_{n_j}\}$ converges to point $\beta^* \in C$. Now by the above arguments we have $\beta^* \in F(T) \cap F(S)$. By lemma (2.1) $\lim_{n\to\infty} ||x_n - \beta||$ and $\lim_{n\to\infty} ||x_n - \beta^*||$ exists.

Since E satisfies Opial condition, therefore

$$\lim_{n_{j}\to\infty} \|x_{n_{j}} - \beta \| \le \lim_{n_{j}\to\infty} \|x_{n_{j}} - \beta^{*} \| (2.13)$$
$$\lim_{n_{j}\to\infty} \|x_{n_{j}} - \beta^{*} \| \le \lim_{n_{j}\to\infty} \|x_{n_{j}} - \beta \| (2.14)$$

By (2.13) and (2.14) we have $\beta = \beta^*$.

Hence $\{x_n\}$ converges weakly to a common fixed point of S and T.

3 Conclusion

The class of mapping used in this article is more general than that of non-expansive and asymptotically non-expansive mappings. Therefore the fixed point results derived by us are generalization of the previous results given in the existing literature.

Acknowledgement

The first author sincerely acknowledges the University Grants Commission, Government of India for awarding fellowship to conduct the research work.

Competing Interests

Authors have declared that no competing interests exist.

References

- [1] Browder FE. Nonlinear operators and nonlinear equations for evolution in Banach spaces. In: Proceedings of the symposium on Pure Mathematics. 1976;18.
- [2] Goebel K, Kirk WA. A fixed point theorem for asymptotically non-expansive mappings.Proc.Amer. Math.Soc.1972;35:171-174.
- [3] Bruck RE, Kuczumow T, Reich S. Convergence of iterates of asymptotically non-expansive mappings in Banach spaces with uniform Opial proporty. Colloq.Math.1993;65:169-179.
- [4] Hou X, Du H. Convergence theorems of a new iteration for two non-expansive mappings. Journal of inequalities and application. 2014;2014.
- [5] Opial Z. Weak convergence of the sequence of successive approximations for non-expansive mappings. Bull. Amer.Math. Soc.1967;73:591-597.
- [6] Khan SH. Fukhar-ud-din H. Weak and strong convergence of a scheme with errors for two non-expansive mappings. Proc.Amer. Math.Soc.2005;61(8):1295-1301.
- [7] Sun ZH. Strong convergence of an implicit iteration process for a finite family of asymptotically quasi non-expansive mappings. J. Math. Anal. Appl.2003;286:351-358.
- [8] Schu J. Weak and strong convergence of fixed points of asymptotically non-expansive mappings. Bull.Aust.Math.Soc.1991;43:153-159.

©2017 Panwar and Bhokal; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

$Peer\text{-}review\ history:$

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)

http://sciencedomain.org/review-history/17169